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Adet RMS (ppm)
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lagr_asym_us_avg (ppb) 1D pull distribution

= X2 / ndf 54.84 /50
- Mean  -0.01348 +0.1452
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr (ppb) 1D pull distribution

X2/ ndf 57.76 / 50

Mean  -0.01169 + 0.149
3000 pO -504.7 £ 180.5 i
I [ | Stdbev  1.064 +0.1054
10 Underflow 0
I Overflow 0
L \ X2/ ndf 2.989/5
8 —

Constant 9.185 + 1.849

Mean 0.9215 + 1.1074

= \Sigma 1.768 + 0.669
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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lagr_asym_us_dd (ppb) 1D pull distribution

= X? / ndf 62.26 / 50
E po 3931+ 126 Mean 0.003344 + 0.1547
3000 — 10~ Std Dev 1.105 +0.1094
2000 f_ : Underflow 0
1000 f— l ‘ } l 8__ X2  ndf 5.504/7
o % . ] l ]' I I T l I I { l : Constant 8.775 + 1.638
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lagr_asym_us_dd RMS (ppm)
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